&F0 265y i = X 15
I KEI A4 . REBHTT REHBBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| HHEHT Ecei 40% 1. 1% - f?ﬁttéfﬁttiél ’
IEmy Exin — | B — - - —
JHET 1 ~3TH gt — | B — - - -
A AT s i - | B& -1 - - -
RELLIAN 0 Hittak 1.2 — — — —
HA A I 40 | 1.1 [ e T b A b Y L
AT LA DI
1 RaERW 40 | L3P 8.4 18d ¥ L 1Y
2 LRELU o i 40 | 1.1 [0 2.5 7. 550 2. O 2.0
\ | Al FEET (R (aEs: 30 | 1.1 Fﬁtt@[:tt@[ﬁbt?ﬁiﬁtt@
T LA X 30 | 1.2l 2.5 7.5 2. 1 2.1
IRET st — | B — - - -
HZERT = — | B - - - -
15 b X g L. 1 (7 B 2B BT b 2 b e
AT LA P 1.2 | 2.6l 7. O 2. 1 2. 1
—{HET £ — | B — (717 L 2T L 2 b
—HSHT R AT el — | BEAR (i bk T b e L Y e T
LFEELS 0 Hirtsk 40 OO i = o =
—ARHET BN — | B& -1 - - -
Al itk Rk 30 | 1.1 |7 b bl b Y b
AT LR Ik 30 | L1 WD 2.6 7. 080 2. 1K 2. 1
ASRET Ecei 1.2 -1 - - -
AR T b Rk L2 |fteEf ey — -
AT (LA Xk
1 Ragmn L1 |# 8.4 18tk bk 7
2 LERLS o L1 |l 2. 5l 5. 40 2. ol 2.0
BAFII1~2TH |2 1.2 Fﬁtti’éEJ:I:i’é -1 -
5| A5 EmT Eaeioy — | B -1 - - -




ST 265y i = X °H
I KEI A4 . REBHTT REHBBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
I EHFETLI~2THE |25 30% 1. 2%Fﬁttzfgﬁftti”§ - ’
E AT T b Kk 30 | 1.1 |7 YT HR e L Y L T
TR KR 30 | L2 25075 | —
Z| EILZAET kA - | B# - — — -
FEAfy < AT EaeiA — | B# —[fEeE —
3| KIHHT R AHE R _E o> T2 BT Mgk 1.1 — — - —
RERLAS 0 Hhi 1.1 — 77 b HErT b
SN IET A Mt — | B - — — —
ERLEASS 0 i 40 | 1.0 — — — —
T A ET AL KR 40 | 1.1 [fiHEERY - —
M AR K 40 | 1.2 [ 2. 50 7.5 2. 1 2.1
7y AT 1 ~3TH st — | B — — — -
FrSF-RT R R 5 — | B o R et e 1)
_ERLEASR D i 40 | 1.2 [fitedEdTHEE - —
A A b K 1. 1 |77 b HET e ¥ L v LL 9
A LR PR 1.2 [l 2. 6t 7. Ol 2. 1t 2.1
MAEET 1 ~2TH R — | R - - - -
LA WLER 1L1|F 8 4F 18
LFELIS O HiH 11 # 2. 5 5. LT@ 2. orm 2.0
EBJET1~2TH |4k 40 | 1.1 ﬁ%ttufﬂj:tti%ﬁittf’érﬁtt%%
FET1~2TH i — | B S Ll
FRET1I~2TH |2 — | B (LEMERLEEE | —
BART ERT R oD T35 H gk 1.2 - — — —
ERLAA 0> sk 40 | 1.1 oo I 1= i - e = i =
2 e s Bt A — | B -1 - A -
RELLASN D i 40 | L1 — - — —
T Esic 40 | L1 —[kedE - -
o T AL 30 | 1.1 -

ﬁbh@"ﬁtbf’é -




ST 265y i = X 3E
[EESIE T AN il REMBISEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
7y A FET A LIS ik 30 | L2 250 7.5 —| -
&| At B A g — | B s s
R T E BN o> T 3 E I s 1.2 e s
_EERLLS 0> ik 30 | 1.2 o
ok Ege 1.3 [#l 2.6/t 7. O 2. T@q 2.1
| =X EEimsu 40 | 1.0 ﬁﬁtl:?%rhtlzfﬁ[ﬁhti’éﬁtti’é
_ERELAS O el 30 | 1.1 (77 b HERT b BT b T b 1B
FEA ML
1 B — | B -1 - A -
2 EREERR< REXRAE AR ERE, 40 | 1.1 Fﬁth@ﬁtﬁ@ﬁbﬁﬁﬁtb@
3 LRLSt o 30 | 1.1 [T EeHET He e b T e T
A AR K
1 RGERAR WG 10 | 1.1 =l 2. Ll 2.1
2 _ERLEA iR 30 | L1 - —iff 2. Ll 2.1
UNEY N T i 40 | 1.1 ﬁftti’érrﬁttﬁﬁﬁbti’é[ﬁtti’é
T LA X b
1 RIER 40 | L1 |f 8.4 18l 2. ol 2.0
2 LEELUt oM 40 | 1.1 [l 2. 5 5. 40 2. o[: 2.0)
ARHET 1 ~2TH |25 — | B -l - - -
Bk bR
1 [E3E2 0 8 H#AW 40 | L1 [ftb¥EAHLEE —| —
2 LRSS OHIR 30 | 1.1 (AT EHEAT YR b e L T
LA X 30 | 1.1 2. 5[ 7.5 2. Of 2.0
| T g g b — | B -1 - A -
R AT S o> T35 sk 1.1 o
_EEELIAN 0> itk 40 | L.2 —|iE - -
o| mERr 1~ 2 TH (BT SR % e
REELIS O I 40 | 1.1 7 b T b

Fﬁbl:‘@"ﬁtl:fé




ST 265y i = X 1H
[EESIE T AN il REMBISEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| NIRRT g 3itpachiid — | B& s s
ERLEASR D Hitl 40 | 1.2 — — — —
NERT1~3THE |8 — | B -1 - A -
A ECET £ 1.2 —| it
S RET1~2TH g — | B - - A -
=) gt 30 | 1.1 ([dkedy -~ —
fe b HT Ees — | B -1 - A -
WFEAT1~3TH |2 40 | 1.2 |7 R IE HL I L Y b
HWHHT 1 ~2TH |2 — | B -1 - A -
= GUET ki 1.2 e
L| ¥ R Ee — | BRAR (TibbMETREEE O | —
Py st 0.9 |ffi 2.5 5. 4% 2. Offi 2. 0
PUREHHET 1 ~3 T H |2 0.9 - - - -
LT b X g 30 | 1.2 |7 bk ST B R b M b HE
AT LA P 30 | L2 —| Wi 2. s 2.1
THNET1~2TH |[BRH — | B - - - -
_ERELIA 0> Hithk 40 | L1 [fitbHEdikeE —| -
EILET Bt — | B# -1 - - -
R eE| I 1O 2.5 7.5  — —
AT B AT 35k — | B# - - A -
EFCLAS 0> iR 40 | L1 [ftb¥EAHLEE —| —
Bl Ecei 40 | 1.1 —Fﬁtti‘éfﬁttﬁfﬁtm%‘
EES b sk 30 | 1.1 |77 bk T T b M L
AT (LA Xk
1 RERWY 30 | 1P 8.4 18 2. 1l 2. 1
2 LERLS o 30 | 1.1 w0 2.5/ 7. 5% 2. Off 2.0
P S iR LIS N D FE L 4k |t 2. Bl 7. G 2. Offll 2.0
EE) Bt — | B -1 - A -




ST 265y i = X 5E
[EESIE T AN il REMBISEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
U REKET 1 ~3TH |25 — | BB —[FE - -
WET1~2TH B ARAT H — | B s s
EERLLS o iR 40 | L2 [fite¥iiers —| —
HrBHET ESeEn 1.1 o
FEIAT 1 ~6 TH |[M#HbXik
1 RoE KA ARG 40 | 1.1 [ be T B b e b
2 _RELLISh o HiE 40 | 1.1 Fﬁttfél:n;tti”éﬁbt@mtfé
AR X I 40 | 1.2 — 2. 4l 201
HrisHT ESeEn 1.2 o
HAHT ESEY — | B -1 - A -
FiHhET Ee — | B - - A -
HIESFHS i 10 | 1.2 —|iE - -
HET Eoei 40 | 1.1 [T YT b YT P b
EERI1~4TH  |[BHRMEHR — | B -l - - -
ERLEAS O i 40 | 1.1 —|iFteyE - -
HrEHT £ — | Bk - - - -
41 AJLRHT RGBT 40 | L1 —|fieE - =
LFELLS D i 40 1.1 —[i kL HE - -
{E&ET Bt — | Bk -1 - - -
AT 1 ~3TH  [BERMHR — | BB (kg - —| -
ERLEASS O 40 | 1.0 [ - - -
H RAEIT 1 ~2 TH  [BH i — | B - - - -
ERCEASS D 40 | L.2 — [T b T b M b
7zl KERT1~6TH |#J — | B -1 - A -
ERbET Eseen 1.1 o
EHRAT1~2TH  |[BAREHE — | B -l - - -
EFRLLAS o> Hhs; 40 | L1 —|iikEE -
HE]E3 Eseid 40 | 1.1 ‘rﬁthﬁrﬁﬂ:@ﬁtﬁ@ﬁthi’é




ST 265y i = X 6
I KEI A4 . REBHTT REHBBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
iz| % [ikcaklaES: 40% 1. I%Fﬁttfgfﬁttféﬁibtéﬂittiél ’
AL % X Ik 40 | 1.1 [ 2. 5 7. 5 2. O 2. 0
HET E=ei — | B — — - —
MR T s i - | B& -1~ - -
_EECLAS 0> itk 40 | L2 [hkvEnee - —
KEIT1~4TH o A b e — | B — — - —
_ERELAS O el 40 | L1 ([irkugERRE | —
12/ L i — | B -1 - - -
THHT & A A s — | B — — - —
ERELASN O iU 40 | L.0O T s
o AFRAT B A AT i e — | B — — - -
ERLEAS O i 40 | 1.1 [diteYEdTETE S | —
NEE AL P
1 #TTEEE oo T35 Husk 1.1 - - - -
2 HRTTENES Lo MET S 1.1 - — — —
3 LRELSt o 30 | L1 ([AtcdEdTREEE S | —
T LT X 30 | L1258 7.5 0 —|  —
RARET Eeei — | BB#R — — — —
RIERT BN 40 | 1.1 (T LT LT e T b
KEM1~3TH  |a — | B [ | —
&| FEATA; g 1.2 - - - -
FE [k kIAES:
1 ERTTE NS oo 2 o H M 1.2 - - - -
2 _EFRLIAh o Hig 30 1. 2 |77 bk HET BT e v b Y
AL A X8
1 B 30 | LO|H 8.4 18% 2. Ot 2.0
2 LFELh o g 30 | 1.0[F 2. 5% 7. 560 2.0l 2.0
% SR BT PN oD S A I —ft 2. 5 i 2. 0

7. 5’%‘@. 2.0




&0 244 5 E XK 15
HIRKER 4 . KEEHT KEHBSE
Do (rR) ks W W om0 w4 P08 FERERTIELETSERS
L EET1~2TH g —% Bi| e
AR I — | B - = 4 =
ST gt — | B&HR (v b T P L Y bR
72| A EET i — | g, _ _ _ _
TENET1~3TE |8 — | BRAR (Mt | —
HACHT e — | B B
HET1~2 T H B | mim B
R AT B 1 1 N (e e e
ERLLAA 0> i 40 | L2[hHg  — - —
RIHET Eeeis — | % | 4 4 =
T Al 0 | L1 B I
IRAEHT e 40 | 1.1 B I
io| pEsERT Esen Y R
G i E T =ty — | B Bl
FEEEET 1 ~ 2 TH B30 1.9 — — _ _
PR HET S g e — | i - - 4 =
RFRRLAS o> Mt 40 1.1 - — — —
| BFERET Eeei 30 | 1.2 |7 b HE B ST L e L EE
i FRRBETL~2TH |2 30 | 1.2 [Ff7 BT L AT b T b
A& HET Ece — | B - - < -
MR ~2TH [ B Y I N R
EFCLAS o> iR 40 | 1.1 I I
AFRHET 3 TH Sl 40 | L1 - - 4 =
JAAET e 40 | 1.1 — |7 LT P v L M
fE BT % o i — | B# —fk - -
LELLIAL o Hitdag 40 1.1 — — _ _
IR TAT = B o I I R
i) et — | B B




&F0 265y i = X 8
[EESIE T AN il REMBISEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e & & «g 7 #
i FEERT Eeein 1.1 — — — -
B GHT B A g — | B —fE - -
LELEASN o i 40 | 1.1 —[ee - -
JRILIET I — | K& - - - —
S5 g Sitpecbid — | BEAR (TilMETIEME | —
LFRELA o> it 40 1.2 Fﬁtti’é\ﬁﬂsfﬁﬁﬂzi’éﬁtti’é
N BURHT Ees — | B -1 - A -
HHHT1L TH g — | B - - A -
HHAT 2 TH B A AT 3 — | B -1 - A -
ERELASN O iU 40 | L1 o
HARERT (R (AES: 30 | 1.1 — {717 B T b T b v
AT LA R 30 | 1.2 | 2. Gl 7. 550 2. 1t 2.1
FUEJRHET Eoei 1.2 - - - -
A BT Bt — | B —fee — -
AHET1~3TH Eeei — | B - - — —
9 ES BT £ — | B —ffrteE | -
TIRHT S A — | AR (T LT b M L T L
LFELLS D i 40 OO i = o =
5 B [ ET L PR
1 B 5 — | B (rltueTLEYE - —
2 LFELIA o e 30 1.1 (77 B YT B b Y b v
T LR P 30 | L2 2,50 7.5 —| @ —
SHY BT R AT ek — | BEAR (TTiuETTLLME | —
LELEASR > iR 40 | L2 [fitk¥iiterE | —
REEIT1~2TH |85 — | BB (kM | —
T £t — | B -l - - -
(E AR 1~6TH gt — | B -1 - A -
| BANT1~2TH |2 40 | 1.1 [T HLXET PRI e b




ST 265y i = X I
[EESIE T AN il REMBISEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
k| FATHEAT N — | B — - - -
R ET Ecti — | B - — — -
FARET 2 T B Exs — | B -1 - A -
J& PEET VR KA FRRASRIS 40 | L1 |hitkdEfeE | -
_EECLAS 0> itk 40 | L1 [hkevEnee - —
e - A Xk 40 1. 1 |77 EL#ET ¥ e AT b v
AT LA DI
1 RaEimw 40 | 1.1([#F 8.4 O 2.0
2 LRELU o i 40 | LOJ# 2.5 L Of 2.0
2 SR B IR PN O J2 Y R —f#tl 2.5 L0t 2.0
ST 1 ~5TH MR — | B - - A -
ERLEAS O i 40 | 1.1 — — — —
] [EEEIE (A% 30 | L1 [T BT LT b T b
T LA X 30 | 1.0 e 2.5 7. 00l 2. 0ff 2.0
WA Eeei 1.2 — —ﬁﬁtlzﬁ[ﬁtti’é
=“HET1~3TH |2 — | B - - -4 -
3] B2 — | B# - - A -
MR 1 ~4 TH |[&% — | iR —[rk - -
T RHT R A 358 — | B -1 - - -
ERCLLSR oD Hirksg 40 | 1.1 - - - —
=17 b R ik 1. 1 {77 b eI b T L i b
A AR Xk
1 REBN L1 8.4 18 2. 0 2.0
2 LS o 1.1 [ 2. 50 5. 460 2. O 2.
e R BT PN oD o P i DU —f#ti 2. 5l 5. zT@ 2. Ot 2.
HFEA1I~2TH |8 40 | L1 |77 YT b T e v b
HH [ikczp (s
1 FGERV R OURIE LA PE ot 40 | 1.1 [T HLXET PRI e b




ST 265y i = X 105
I KEI A4 . REBHTT REHBBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
A B 2 bRELS oK 30% 1. I%Fﬁttfgfﬁttféﬁibtgﬂittfg ’ ’
A% I
1 Raainwy 40 | L1 |F 8.4fF 185 2.0
2 LELIAA O RSELLTE O Hits; 40 | 1.1 [Wl 2. 500 5. 4if 2. 0)
3 R o ek 30 | 1.1 (#E 2. &K 5. 4 2.0
Fr S R B PN 0D f AL Xk | 2. Bl 5. 4 2.0
= LT Eet: 40 | 1.2 o
W HTVEHT 1 ~3 T H geit — | B ThihEERTHREE —
R BT Eeei 1.2 - - - -
J\ITRT Eeeis — | B [HREHY | | —
Hi T HT Eaeir — | B - - - —
LAy st — | B — - - -
| FHRT1~2TH |2 — | B - - - -
X| Hir b X g 40 | 1.1 |7 Bk HERT B HE B HE B HE
AT LA P 40 | 1.1 [W 2. 50 7. 550 2. Ot 2. 0
o S B A PN D J —Jfli 2. 5Ez . 5[;@ 2. Ol 2. 0
oLy Eee: 1.1 - — (7 b M b T
KA1 ~2TH EE807 40 OO i = o =
g BN 30 | L1 (7 b M LY M LY
| T Eeei — | B [ EET e — -




